User manual
Product Code: A-NUC24-A1B / A-NUC24-M1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an ESD-controlled workstation is not available,
wear an antistatic wrist strap or touch an earthed surface before handling any PC components.

'WARNING

Please be careful when unpacking and setting up this product as metal edges can cause injury if not handled with
care.

R
ATTENTION

Une décharge (ESD) risque d les du systéme. Si vous ne disposez pas
d'une station de travail avec protection contre I'ESD, portez un bracelet antistatique ou touchez une surface reliée
4 la terre avant de manipuler les composants de I'ordinateur.

AVERTISSEMENT

Faites attention lors du déballage et de 'installation de ce produit car il comporte des coins métalliques coupants
qui risquent de vous blesser s'ils ne sont pas manipulés avec soin.

D
Vorsicht
(ESD - ic discharge) kann
ligen. Sollte ein ESD. i itsplatz nicht vorhanden sein, tragen Sie ein
antistatisches Armband or beriihren Sie eine geerdete Oberfliche bevor Sie mit den Arbeiten am Computer
eginnen.
Warnun

Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes. Scharfe Metallkanten kénnten
Verletzungen hervorrufen wenn ohne die nétige Vorsicht vorgegangen wird.

Es
CUIDADO

Descargas electrostaticas (ESD) pueden dafiar los componentes de su sistema.

Si no puede disponer de una estacién de trabajo libre de electrostatica, use una mufiequera antiestatica o toque
una superficie que haga tierra antes de manipular los componentes def ordenador.

PELIGRO

Por favor sea cuidadoso cuando desempaquete y ensamble este producto. Los filos de metal pueden causarle
cortes o heridas si no son manipulados adecuadamente.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao tenha uma bancada especifica
disponivel, utilize uma pulseira anti-estatica ou toque uma superficie aterrada antes de manusear qualquer
componente.

Por favor tenha cuidado ao desembrulhar e montar este produto, as extremidades de metal podem machucar,
caso o mesmo nao seja manuseado com cuidado.

P

E:3

BBENE (ESD) (FBFEHM - WBIABESRBTEHBYET,
AUROBYHHERETSBlIC. ATBBEIREMEEEToOTLIEEL,

ﬁgﬁﬁﬁﬂ:&ﬁ L<EBBRBLAR F5 Y TEBALT, BRISHEREGT>TREL.

4
REOFH (LvY) BITTHETEZBNNBVETDT,
FRREWME. €y b7y TTBRIE. ChChbHRTERCEEL,

o

R
WA (ESD)AT AL IR RGETT A © T DIk © & agia
5 S IR A

FRBZEFRNORA - B RS RAKRIG o

Contents

GB

@ Thermal compound @ Thermal pad (for PCH) @ Screws for thermal module (M1.7)

@ Washer (black) ® Screws for motherboard (black / M3) ® Washer (red)

@ Thermal gap filler (for M.2 SSD) ® Thermal module (for M.2 SSD) @ 2.5" HDD / SSD screw (M3)
@ 2.5" HDD / SSD mounting bracket @ HDD protective film @ SATA cable @ Power cable

@ USB cable @ Ethernet cable @ DisplayPort cable @ Power cable @ Mount bracket

@ Mount bracket screws (silver / M3) @ Cable leakproof seal (spare part) @ Back plate screw (spare part)
@ Back plate leakproof seal (spare part)

FR

@ Composé thermique @ pate thermique (pour PCH) @) Vis pour module thermique (M1.7)
Rondelle (noir) & vis pour carte mere (Noir / M3) (® Rondelle (rouge)

Pate thermique (pour M.2 SSD) ® module thermique (pour M.2 SSD)

Vis de disque dur / SSD 2,5” (M3) @@ Support de fixation de disque dur / SSD 2,5"

@ Film protecteur de disque dur @ Cable SATA @) Cable d'alimentation @ Cable USB

Cable Ethernet ® Cable DisplayPort @ Cable d'alimentation @ Montage

Vis pour Montage (argent/ M3) @ Joint étanche de cable (piéce de rechange)

Vis de plaque arriére (piéce de rechange) @ Joint étanche de plaque arriére (piéce de rechange)

SISICIGIEIOISIO)

Warmeleitpaste @ Thermal Gap Filler (fur PCH)

Schrauben fiir das Warmeaustauschmodul (M1.7) @ scheiben (schwarz)

Schrauben fiir das Motherboard (schwarz/M3) ® scheiben (rot)

Thermaler Luckenfiller (far M.2 SSD) ® Thermo-Modul (fiir M.2 SSD) ® 2.5" HDD/SSD Schrauben (M3)
2,5" HDD/SSD-Befestigungsbiige @ HDD-Schutzfilm @ SATA Kabel @) Netzkabel G4 USB-Kabel
Ethernet-Kabel @ DisplayPort-Kabel @ Stromkabel @ Montagehalterung

Montagehalterung Schrauben (Silber / M3) @ Kabel wasserdichtes Siegel (Ersatzteil)

Schraube fir Riickplatte (Ersatzteil) @ Riickplatte wasserdichtes Siegel (Ersatzteil)

J000R00®

(@ Pasta térmica @ adesivo térmico (para PCH) @ Parafusos para o médulo térmico (M1.7)

@ Arruela (preto) ® parafusos para placa-mae (negro/M3) (® Arruela (vermelho)

@ Pelicula térmica (para M.2 SSD) maédulo térmico (para M.2 SSD) @ Parafusos para HD e SSD (M3)
@ suporte de fixacdo para HD e SSD @ pelicula protetora para o HD (@ Cabo SATA @ Cabo de energia
@ cabo de dados USB @) Cabo de rede @ cabo de DisplayPort @ Cabo de forca

@ suporte de montagem @9 Parafusos para suporte de montagem (prata / M3)

@ Anel de vedacao para cabo (reposicdo) @ Parafusos (reposicdo) @ Backplate de vedacdo (reposicao)
ES

@ Compuesto térmico @ relleno térmico para huecos (para PCH)

@ Tornillos para el médulo térmico (M1.7) @ Arandela (negro) ® tornillos para la placa base (negro / M3)
® Arandela (rojo) @ Relleno térmico (para M.2 SSD) ® madulo térmico (para M.2 SSD)

® tornillos para HDD/SDD de 2,5” (M3) @ Soporte de montaje para HDD/SDD de 2,5"

@ Pelicula protectora para HDD @ Cable SATA @) Cable de corriente

@ Cable USB @ Cable Ethernet @ Cable DisplayPort @ Cable de corriente

@ bracket de la montura @ tornillos de bracket de la montura (plata / M3)

@ Aislante de cable a prueba de fugas (repuesto)

@) Tornillo de la placa posterior (repuesto) @ Aislante a prueba de fugas para la placa posterior (repuesto)

@ Y=<W TIV—R @ Y—<IFvvTT7+Z— (PCHFA)

@ H—VILEI21-I)ARL M17) @ Tyivy— (B) ® YHF—R—RERL (& /M3)
® Tyyr— () @ Y—<LFrvTT15— (M2SSD )

® $¥—ILEY2—)L (M2SSD ) © 25" HDD/SSD Fi*Y (M3)

@ 2.5 HDD/SSD B 754 v b @) HDD R 7 1)LL @ SATA U —7 ® BRT—7
@ USBY—7IL ® 1—4Fxyhor—7JL ® DisplayPort 7—7 )L

@ T—=TI ® IVYNTITY R VYNT STy RARY (R / M3)

@ T—TERNESY—IL (ARTEBHZ) DNy TL—rARY (ARTERD)

@ Ny o TL—hERNIED Y —IL (ZARTERGR)

CN

@ SHE @ SMEAPCHRE) @ BHMEREBLMIT) @ EFH(E) © FREBL (B /M3)

® E£FKE) @ SHHFRHR(M.2 SSDF) ® ##HE (M.2 SSD /)

® 25" HDD/SSD #2£4(M3) @ 2.5" HDD/SDD R#Z 1) ERERIPA K 1 SATA & ) MFEL
@ USBL#1 1 Migsk#st (© DisplayPortékbt 0 MRZ4 8 REXZ © RFEFLFL (] / M3)
@ LHITKERE (BR) © BHEBL (FR) @ BHHKKE (&)

5140167433 V1

Front and Back panel layout

®

Hard Drive LED
Power LED
Power Switch

Cable opening with cap

PowerJ LUSB

DisplayPort Network

Internal layo

@ Front panel PCB

® M/B mounting standoffs

@ Aluminium heatsink for heat transfer
® Thermal module mounting standoffs

MO, OO SO Am

Internal cable connectors

Power and HDD led
connectors

GB

gonned the case internal cable connectors to the corresponding motherboard
eaders.

NOTE : If the connectors are not apparent on the board consult your motherboard

manual. Connecting the panel to the wrong headers may result in motherboard

damage.

FR

Branchez les connecteurs de cable internes du boitier aux embases de carte mere
correspondantes.

REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le
manuel de votre carte mére. Si vous connectez le panneau aux mauvaises embases
cela risque

d’endommager la carte mére.

D

SchlieBen Sie die Gehauseinternen Kabel-Anschliisse an die entsprechenden
Motherboard-AnschliiBe.

HINWEIS: Wenn die Anschliisse auf dem Motherboard nicht ersichtlich sind,
schauen Sie bitte in ihren Motherboard-Handbuch nach. Ein Anschluss des Panels
an die falschen

AnschltiBe kann dazu fuhren, dass das Motherboard beschadigt wird.

ES

Conecte los conectores de los cables del interior de la carcasa en los
correspondientes cabezales de la placa base

NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa
base La conexién del panel en los cabezales equivocados podria danar la placa base.

PT

Conecte os cabos internos do gabinete, nas entradas correspondentes da
placa-mae.

NOTA : No caso das entradas nao estarem marcadas na placa-mae, consulte o
manual da mesma. Conectar os cabos numa entrada errada, pode danificar a
placa-mae.

P
eIz R— RO =27 IV EBRLS—ADRIAXRI 25— IV
EEELE ‘ T

ERES T LY Ml E 5 X BN

—FDRZ 27 )V SRR LT,

* Do not drag the
internal cables

Installation

Network cable

Power cable

Power and HDD led connectors

M.2 SSD card

2015/12



Installation

mounting bracket installation

Caution

/
7 V/
LY/,
®
RN ®
'l @ “
: !
@“ S . SIS

10 7 W25 9 20X 3
© ® ®

®

GB
Please tighten the screw in the sequence above to achieve
the best and optimum waterproof result.

FR
Serrez les vis dans la séquence ci-dessus pour obtenir le
meilleur résultat et une étanchéité optimale.

D

Bitte ziehen Sie die Schraube in der oben gezeigten
Reihenfolge an, um das beste und optimale wasserdichte
Ergebnis zu erzielen.

PT
Por favor, aperte os parafusos conforme a sequéncia acima,
para que tenha uma melhor protecao a prova d' agua.

ES
Apriete el tornillo en la secuencia mostrada para conseguir
el resultado 6ptimo de impermeabilidad.

JP
RADHKEZERT BT, EROFIRICH>TRIZLD
B RHTLREL,

CN
BRETRE SR ERLILATI RER KRR -

GB
Ensure the testing opening cap is securely tightened.
DO NOT open or remove the testing opening cap on the front panel!

FR

Assurez-vous que le bouchon de I'ouverture de test est bien serré.
NE PAS ouvrir ni retirer le bouchon de I'ouverture de test sur le
panneau avant !

D
Stellen Sie sicher, dass die Prifoffnungskappe festgezogen ist.
Die Pruféffnungskappe an der Vorderseite NICHT 6ffnen oder entfernen!

PT
Certifique-se de que a tampa da entrada de testes esteja
devidamente apertada.

NUNCA abra ou remova a tampa da entrada de teste localizada no
painel frontal!

ES
Asegurese de que la tapa de pruebas esté bien apretada.
iNO abra ni quite la tapa de pruebas en el panel frontal!

Jp

BRERF—TZV7F v v TR Lo EE O TWA T EZRRL T LT,

AV ENRIVORERA —T=ZV 7% v v TERFRY.
YA LY LELWTLEEL!

CN
HIIAEN M FLIBEE S P -
BT F B R AR E A 7L aZ0E !

NN\ """ """ " 222N

GB

In compliance with IP65, this fanless case is protected against the ingress of dust
and is protected against low pressure jets of water from all practicable directions,
provided that all caps and covers are firmly closed.

Limited warranty: AKASA ensure all of the workmanship and manufacturing of
the case is in compliance with IP65, however, customer have to ensure the final
assembly of the case with motherboard are installed properly for IP65 compliance.

FR

Conformément a la norme IP65, ce boitier de ventilateur est protégé contre la
pénétration de poussiere et contre les jets d'eau a basse pression de toutes les
directions possibles, a condition que tous les bouchons et couvercles soient
bien fermés.

Garantie limitée : AKASA assure que |'exécution et la fabrication du boitier sont
conformes a la norme IP65, cependant, les clients doivent s'assurer que
|'assemblage final du boitier avec la carte mére est correctement effectué
conformément a la norme IP65.

D

GemaB IP65 ist dieses lufterlose Gehause gegen den Eintritt von Staub und gegen
Wasserstrahlen mit geringem Druck aus allen Richtungen geschitzt, vorausgesetzt
dass samtliche Kappen und Abdeckungen fest geschlossen sind.

Eingeschrankte Garantie: AKASA gewabhrleistet, dass die Verarbeitung und
Herstellung des Geh&uses gemaB IP65 erfolgt. Der Kunde muss allerdings
sicherstellen, dass der Zusammenbau des Gehauses mit einem Motherboard den
IP65 Vorgaben entspricht.

PT
Este gabinete fanless estd em conformidade com a norma IP65, possui protecdo
contra poeira e jatos de &gua com baixa pressao, independente da direcao dos
mesmos, desde que todas as tampas estejam fechadas.

Garantia Limitada:A AKASA garante que toda méao-de-obra e processo de
fabrica¢do do gabinete, estd em conformidade com as normas IP65,
porém depende do usuario realizar a instalacdo correta da placa-mae,
para assegurar a conformidade com o IP65.

ES

Compatible con IP65, esta carcasa sin ventilador esta protegida contra la
contaminacion de polvo y protegida contra vertidos de agua a baja presion

desde todas direcciones, siempre que todas las tapas y cobertores estén bien cerrados.

Garantia limitada: AKASA asegura que toda la mano de obra y fabricacién de la
carcasa es compatible con IP65, sin embargo, el cliente debe asegurarse de que el
montaje final con la placa base se haya realizado adecuadamente para cumplir con
la norma IP65.

JP

ZDT7VLRAT—RIE, IRNTDF vy TEAN—DEEHAETNTLBRY,
IP65DIRIEICED T, BIRDBAZE. HE5WBEREGARANSDEEDNI Ty +
KIS L THRKEZRA TVET,

HIBR{T ELREE: AKASAIZ T — R DEMEE KUELETIZH TN T IP65FRIEIC
BELTVWABTEZRELTVETH, Y —R— FZEY FF 7 — A DIP65RRIRIT
BELTWB I ZZRENICHER T 2EEIIEERICHYET,

CN
B TR POSB AR - LR A R & T Tl R A 81 - BT 48R
REFURELEE -

BIRREIFREK © AKASAMRIELLAL TR £ 75245 & PSR - BE AL MBRERGHRE
RZEFRIZF EFFHFFE IPESERE ©

N\ """ " 222\ 22N



